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Tdeneffardt geA / Guidelines for the Candidate

1. T99 Yftaehdict Te U9 SIS AT el Fasem Wt e s,
Please make sure that all questions are printed properly in Question booklet or
not.

2. U AT & TRET SHATERTE ek UTsieh! (e TeaT=! W hied ST,

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

3. ufet g& guangd fageneat crrean |yut el et svaredt 30 fafe iften ae quamm
BECH

You will get additional 30 minutes to check and make sure about the information about
yourself on the Answer Sheet before the start of the exam.

4. FQR IYGRETRALE TRUT 100 T ST Tedeh TYHTS! 2 T[0T 37T
This question booklet contains 100 questions each question carries 2 marks.
5. ©d U9 AISiul STavash 3TE. Yehiedl ScIaege MaTeedl TN $Haeare! SRR T[0T Tl het
SATUTR AR,
All questions are compulsory. There is no negative marking.
6. oNUTATE T UG fERT oot Wl A T
Check to make sure that you have received the appropriate test booklet for your standard.
7. UATAHER hales Tehd Stal SNIsR AT, SNieR ISt Uhd

There is only one correct answer. Choose only one option for an answer.

8. eIl UH WIIUITaTS! eheles shiedl / THest T Sictu-=r o,
To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black
Ball, Pen only.

Eg.

Q. x : - Fill in the blanks.

My father went..........ccevvecrrceneennes To buy some milk.

a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding To option a) in the Answer

Sheet as follows.
CORRECT METHOD WRONG METHOD

> @®OO®| [«x @GO W]
9. UReN HUCHTER gl ScUTIohT THALTERIEhE UXd Ul

Return the Answer Sheet to the invigilator at the end of the exam.

10. SATUET URET ShHTh TYTYREThar GEaT ToTgTal a Het TYgieceht URET ShicTaeiFaR e diad
11

Write your Roll No. on the Question Paper too and take it home for future reference.

Visit www.rtsexam.com for answer key after 8 days




YAt JUTHT gaid fHeret.

Which option will replace the question mark ?
POWER : EOPRW : : ENERGY : ?

A) EEGNRY B) FOFSHZ C) DMDQFX D) NEEGRY
AT ST AUTH ST ShivTdt ?

Which number will replace the question mark?

8:64::216:7

A) 468 B) 372 C) 512 D) 550

@t feetesn vregren 1equt shm @ren & feeien e shaTen u=ia e,
1.38 2.7e 3.0l 4.39 5.9

Arrange the given words in a meaningful sequence and then choose the most appropriate sequence
Form amongst alternatives given below.

1.Curd 2.Grass 3.Butter 4.milk 5.Cow

A)5,2,4,1,3 B)5,2,3,4,1 0)4,2,5,3,1 D)2,5,4,3,1

Teh! HSTFAT 8 STret 25 fufie areht sraain am@ when a e wrer amefier sivt et ?

Find the angle between the hour hand and the minute hand of a clock when the time is 25 minutes
to 8.

A) (12%)0 B) (17%)0 C) 20° D) (22%)0

WA HATHAT TYATI-ETed AR ShIUT TEaT A5 ?

Select the correct option which will replace the question mark in the following figure.

35
21 22
? 31
28 29
15
A) 34 B) 29 C) 39 D) 19

foruTg = s R ek = ?

A) TTOTAT B) TS C) gEATEATIeh D) ferammeft
Constable = Gun + then Teacher =?

A) Uniform B) Chalk C) Headmaster D) Students
WA ATl TRUT FehivT fehedt ?

How many triangles are there in the following figure ?

A) 30 B) 34 C) 36 D) 38




T, UTedl 3 ShUST ATeaTdiet e Hael Uifaun=an 9 3 Siiehdien uaid fHast.

Select the perfect Venn diagram option which indicates the best relation amongst flower , white
and cloth.

L9 0 T .

IR + U X, — U +, X FUTH — 307 + FgOTHA +, W26 + 74 — 4 x 5 +2 =it fohwa e,
If + stands for x, - stands for +, x stands for -, and + stands for +,find the value of 26 + 74 -4 x5+ 2
A) 478 B) 488 C) 220 D) 376

1 FeaR 1 YhAR ST TR e TUTeaT 8 Aegaetl ShiuTdl aR ST ?

A) WITER B) JUER C) THaR D) IR
1* September, is Friday, then what day is on 8™ November in the same year?
A) Tuesday B) Wednesday C) Thursday D) Friday

Teh! Hichfaeh Wd GHAZALS = 6051534, 3ot MUSIC = 27489, & SILICA =7
In a certain code GHAZALS = 6051534 and MUSIC = 27489, then SILICA =?

A) 487895 B) 493985 C) 483895 D) 483859
WA TeTd = STEUTIY SeTerdl ITEr |

A) reft e B) STEIVIEIg &9

C) SId ARSI D) GHTu=ig &1

Find the person that does not belongs to the given group ?

A) Homi Bhabha B) Jagdish Chandra Bose

C) Jaynant Narlikar D) Subhas Chandra Bose
Y9TeTd 7 SHUIR US 5E .

A) BT B) AR C) ThIegTR D) RTR
Find the term that does not blongs to the given question group.

A) Solapur B) Kanpur C) Kolhapur D) Nagpur

WA 3TTehare (ASTT Sl & IeATegrean SInit arg we forgt.

Observe the following figures and find the number which will replace the question mark.

9\ A0 o A

A) 42 B) 40 C) 44 D) 46
TETA 7 STHOTRY ATt INe.
Find the odd figure out.
L .E . E cC N i [
B
A)I:I_I B):Iu C)u D)F_II_I




we: feasht ot siiwiem srawda ydens IIg e ST Eidl aX HIgn ST g1 shiuted fEore @ ?

A) gferor B) e C) afgem D) TR AT
One day | was facing East in the position of ‘shirshasan’ then in which direction was my left hand?
A) South B) North C) west D) None of these

17.

18.

19.

20.

21.

22.

WA TIHSATRAT! HRITATA STTHT ek SR I,
Find the mirror image of the following question figure from the answer figures.

¥ 3Mhel/ Question Figure

&

3’ 3Tt/ Answer Figure

S8 e LI

WA 18R HITeTehT YUt .

Complete the following letter series.
BZA, DYC, FXE, ? JVI

A) WHG B) HUG C) HWG D) UHG
TgATRIgTeaT S ST HeR ATA ?
Which letter will replace the question mark ?
A|M|B|N
R|C|S|D
E|U[F|?
AT B)R QG D)V

et faeean Wifeteha SEATRI-gTeaT ST ShivTl STThelt AT A TATATI INe.
In the following question which figure will come at the place of question mark?

g 3hl/ Question Figure

Pl il K

ST aﬂiﬁﬁ/ Answer Figure

h 4 h %
A) B) 0) o) L/
‘IUSET T ITSAT WeATeTdeh! ShIUTAT FHTATSS vTea AT ?
A) T B) Wit C) TRUT D) Zamat
‘AR’ AT I T T —
A) SIE<hIUT NEESD C) A=t D) IgH




23.  YZIcTdehl STRETt WTSHICT I15g ST ?
A) ST B) 1YW C) ot D) T8
24. WA ARG Uehdl 9168 G,
TG TET TR —
A) TRTRTEIT HREREEED C) SATATRER D) gTehTEI
25. ‘Bree’ o1 amfees vegrdiet TEE .
A) TS B) =aa c) e D) Sigeitel
26. Y& ARSI 372 |RI —
TET GOl -~ ?
A) TeheTqd Gkt 201 B) 91 foesot C) STUTITA TR TS0t D) @d Hehe a0t
27. WA ATeR YU A
T3 ST AU ..o
A) q ATIMET qaaTeit  B) Tt  ICT ARG C) UR TR eheATEt D) &t Tt aarett
28. Mark the option with the in correct spelling :
A) Pursuit B) Phenomenal C) Precipittation D) Philippine
29. Select the pair among the given choices which are related in the same way as the given words.
Whisper : speak
A) Heat : chill B) Request : Ask C) Brush : Touch D) Listen : Bear
30. Choose the correct antonym of ‘civil’
A) Military B) Political C) Urbane D) Battle
31. Don’t Disturb me When | am busy in my work. (Find type of clause)?
A) Noun clause B) Adverb clause of Degree
C) Adjective Clause D) Adverb clause of time
32. Find out the correct meaning of “solitary” ?
A) Singular B) Lonely C) Crowded D) Spectacular
33. Fill in the blank with appropriate form of passive voice.
Books........... to me by Sarita.
A) Is given B) Is being given C) Were being given D) So given
34. Choose the correct option to complete the proverb:

The grass is always ............. on the other side.
A) Greener B) Dry C) Shining D) Wet




35.

36.

37.

38.

39.

40.

41.

42.

Choose a pair of words not the same meaning .
A) Mute-dumb B) pride-vanity C) Rigid-stiff D) Jealous — sluggish

o= sTreRRT= g At TR fehed 860 T TR, SR UeRt eIt <t ok gE=a Eituan 15% e
T T T Gt fehud fehdl ?
A)460%,400% B)450%, 410% C)470%, 390%® D) TTdRY AT

The total cost of two chairs of different shapes is Rs 860. If the cost of one chair is 15% more than
The other find the cost of each.
A) Rs 460, Rs 400 B) Rs 450, Rs 410 C) Rs 470, 390 D) None of these

wH Bt 9 e (x'-6x - 26X +138x~35)w’ for @ SRt Ssmen urn
(xX’—4x+1) T 3R, T g Freprof Srmeh 3= vien.

1 1
A) 2(x2—2x—35)tﬁ B) 2 (X2—2x—35)ﬁ'\ C) 2 (3x2—x—4)1=ﬁ D) 2 (3x2—x—4)tﬁ
Area of a triangular field is (x*-6x>-26x°+138x-35) m” and base of the triangular field is (x*-4x+1) m
Find The height of the triangular field.
A) 2(x?-2x-35) m B) % (3-2x-35)m  C) 2 (3x*-x-4) m D) % (3x%-x-4) m

SR 24sinA — 7CosA =0 @Wtan A =7

If 24sin A—7 CosA=0thentanA="?

A) = B) = 02 D)~
25 25 24 24

PR 3t AB = AC, mZA = 48’ , mZACD = 18’ . fiean wifgdia= BC enfot CD

In the adjoining figure AB=AC, m£A=48 , m£ACD=18. From the given data, find relation between

BC And CD.

A

D 48"
““
B

C

A)£(BC)< #(CD)  B)#(BC)>#(CD)  C)#(BC)=+#(CD)  D)ITah A& /None of these

6a’b, 10ab’ , 8abc = HENTY el
Find HCF Of 6a’b, 10ab?, 8abc.

A) 2ab B) 2abc C) 48a*b*c D) 120 a’b’c
7" o TREAer Y 3iek AT ?

Find the last digit in the number 7°°%.

Al B)7 C)3 D)5

V4" = 1024, T n =i fhwa et ?

What would be the value of n, if V4" = 1024
A) 12 B) 5 C)8 D) 10




43, U TARIUTIAT S A UTeR 3 14 ¢ 5 o1 . Frehrome aifudt 144 @t omg. R B
AFc5 G ?
A) 864 TR’ B) 684 T’ C) 764 T’ D) 664 &R’
The lengths of sides of a triangle are in the ratio 3: 4 : 5 and perimeter is 144cm. the area of the
triangle is -
A) 864cm? B) 684 cm? C) 764 cm? D) 664 cm?
44, WU Hvd e T .
Which of the following statements is true?
A) Sin© = cos(90-0) B) CosO=tan(90-8) C)sinB=tan(90-0) D)tanB©=tan(90-0)
45.  UTY HEATE HEA 50 ST T 4 TEATA AL 46 TR, TR Urrel Tt hivwd! ?
The mean of five numbers is 80, out of which mean of 4 numbers is 46, find the 5" numbers.
A) 4 B) 66 C) 434 D) 20
46.  SEUTGET WNTIRR HA:
Divide the polynomials :
[3a’-14a°+4-16a+8a%] = (4a-1) = ?
A) [2a>-3a°+4] B) [2a°-3a-4] C) [2a>-3a%-4] D) [2a*+3a-4]
3+1 .
47. W+3=1.732 ,® \/\/;_1 =it fohad et
_ V341 .
If V3 = 1.732, The value of A s
1
A) 3.732 B) 2.732 C) 0.732 D)5
48. USRI MEATH FHAT P% | ATefaett Sl e TW ... ....... ... q a1ed.
Radius of the sphere is increased by P%. The surface area of the sphere increased by................ .
o) 2 (o) P2 0, ﬁo
A) P% B) P2 % C)[2p + o= 1% D) %
49. 25 9O e, 12.5 TH &A1 AT 7.5 WH I A=A e Udt gl fohEd 750 © 31 @e @ 200

Hiex =i, 1.8 Hiex 3= 3ot 37.5 Gt =g f4a servaEdt e feerh fhma frdt 2

50.

A) 42600% B) 43200% C) 40750 & D) 41860 %

Bricks are worth Rs 750 per 1000 pieces and their length, breadth and height 25cm, 12.5 cm
And 7.5 cm respectively. The cost of bricks required to build a wall 200 m long, 1.8 m nigh
And 37.5 cm thick is.........

A) Rs 42600 B) Rs 43200 C) Rs 40750 D) Rs 41860

S tan A = 1, tan B = V3, f&h"d =@t : cosA.cosB — sinA.sinB

If tan A =1 tan B =v/3 Evaluate cosA.cosB — sinA.sinB
1—/3 1+/3 V3-1 1+/3
A) 242 B) 2v2 C) 2v2 D)[ 2v2 ]




51.

52.

53.

54.

55.

56.

57.

58.

Ik UTehel FE=T0T Ul ¢ WieiicTien! ShiuTea HONeRTe! hid 3118 ?

A) U B) ATfeRaCITEM C) UTERTF D) TIEHIERGRT g
Which of the following Hormones controls menstrual cycle?

A) Parathormone B) Oxytocin C) Thyroxine D) Luteinizing hormone
iferet VST Shg IS B1d 2

A) SUT B) gekd C) e D) =hif

Where was Chernobyl nuclear power plant located?

A) Japan B) Ukraine C) America D) Koria
WetieTueh! e T hivTa ?

A) FTRETEN &gl B) Ueifora™ C) hidn D) H&l

Which one of the following is a source of rayon?

A) Wood pulp B) Petroleum C) Coal D) Sheep

WIETUh! hIVTA T WAL T Aot STard ?

1. UM 2. g 3, AEESH 4. TR
A)1,2,3 B) 2, 3,4 C)3,4,1 D)1,2,4
Which of the following nutrients are provided by fertilizers to soil .

1. Potassium 2.Iron 3. Nitrogen 4.Phosphorus
A)1,2,3 B) 2, 3,4, 0)3,4,1 D)1,2,4
WRATA T@ & e hivrd ?

A) Tiges B) & C) Heht D) Sl

The principal cereal crop of India is -

A) Rice B) Wheat C) Maize D) Sorghum

WTATCTUeh! ShiUTeaT T UETATd Sarian v Hatd il 3Teal ?

A) Qe B) Fere C) sfegmtad D) SRl
In which of the following solids, the speed of sound is the lowest?
A) Steel B) Nickel C) Aluminum D) Glass

SAUTAIEA TehT SHUTTEAT TR IMEATT A6 {3t et 3118, ST WRH TS ST hivTdT ?

A) SEVTEE 99 B) I C) W58 WA D) G I
Name the Indian scientist after whom a sub- atomic particle was named with his name?
A) Jagdish Chandra bose B) Ramanujan

C) C.V.Raman D) Satyendra Nath bose

AIaeedl LTI WIelieTiehl ShiuTe STATe Tehtye TETS g ?

A) &R B) ST C) Fieh D) Tt T
Which of the Abiotic factors can damage stored food grains ?
A) Rodents B) Humidity C) Insects D) All of the




59.

60.

61.

62.

63.

64.

65.

66.

form ST 371 3 RIUTe 9T Tt ST ?

A) SR It B) aferut wRifen C) S D) Hi<t aRferan
Kim Jong-Un is president of ............... .

A) North Korea B) South Korea C) Japan D) Saudi Arabia
TEhT TSI TEHM ..vveeenerreeennnnnnes AR

What is the mass of one nitrogen atom is -
A) 6.022 x 10%Kg B)6.022x10%Kg  €)2.325x10%Kg D) 2.325x 10%Kg

WTeTeh! HITAT hieeh AT ?

A) AEBT B) w9l C) <hicht D) FeUTGEE
Which one of the following is not an insect ?

A) Mosquito B) Housefly C) Spider D) Butterfly

PR U I v TEA 91U S ?

A) Co, B) s NH, C) NH,CL D) NH,OH
The chemical used for cooling in re frigerants is ..............

A) Co, B) Liquid NH, C) NH,CL D) NH,OH
WTCAeTdeh! ShIuTeaT 29TTd T2 | AT ?

A) HRA B) Sferam C) STU™ NEUER]
In which of the following countries diamonds are not found.

A) India B) Belgium C) Japan D) Brazil
WIeTUeh! ShivTal ST fETeromytt Hefer e ?

A) HEOTaR STERT  B) geX 3™ C) SIS ST=ART D) AT TR
Which one of the following commissions is not related to education.

A) Mudaliar Commission B) Hunter Commission

C) Kothari Commission D) Simon Commission
WreeTieht shivTd FHesRl get et ?

A) TS TR T8Teh T B) STe1g Shdll 1

C) form e g D) & g

Which one of the following is not a paramilitary force ?

A) National security guard B) Rapid action force

C) The border security force D) Coast guard

WTecTdeh! ShIUT ATATERUTIATA SN 2RI g1 digeferal ?

A) e AHGETEE  B) A C) AT Tt D) FARIGAR SHIel-d
Which one of the following damages the 02 one layer of the atmosphere ?
A) Carbon monoxide B) Lightning C) Acid rain D) Chlorofluoro Carbon




67.

68.

69.

70.

71.

72.

73.

74.

75.

AHTSIATATE heft Tt ?
A) 19 =1 vTdeRTd B) 18 =41 ITaehId C) 20 =3 ITdehTd D) 21 =41 vTdehTd

Imperialism arose in the :

A) 19" Century B) 18" Century C) 20" century D)21% century
A ATIAET UTEeTl ST ShivTaT ?

A) = B) #Ig C) ara D) 319"

The first metal to be used by man was:

A) Bronze B) Iron C) Copper D) Stone
1974 T HRATS hid S0 Sael ?

A) sigdentet B) &l C) TRERut D) TR

India conducted nuclear test in 1974 at ............

A) Shriharikota B) Thumba C) Pokharan D) Jaitapur
TRy AUETEft Fdl N (CTBT) Heurl THee T hivrd ?

A) TTfeREa B) =i C) i D) AT
Which of the following countries is not a member of comprehensive test ban treaty (CTBT)?
A) Pakistan B) China C) France D) Thailand

HAATTreh Iieht IcqTeATd WAt fehda SHHTeh eTRTAl ?

A) afgent B) gERT c) forra D) <iten
What rank does India hold in the world in the agricultural output ?

A) First B) Second C) Third D) fourth
THIUTA TN AL SHTHSHID Feus Togd ?

A) Tt B) U WRA C) HehTIH D) =
Which news paper was not launched by Dr.Babasaheb Ambedkar?

A) Samta B) Prabuddha Bharat C) Mooknayak D) Harijan
WA Faltd Wiat e Scarees st ?

A) ST B) 3TegIeeh C) u. 5.5t D) farert
Who is the largest cement manufacturer in India ?

A) Ambuja B) Ultra Tech C) ACC D) Birla

“HUTIEt ThisTet” UgHd <hivl €6 hell ?

A) AT TE B) TS ScTgre C) TS AeTEeAt D) TS FciTgeg
Who started “Subsidiary Alliance” System?

A) Lord Hastings B) Lord Dalhousie C) Lord Wellesley D) Lord Clive

WA TSTEEA= hetd 5137 HITHaE AR ?
A) He1Yd TR B) Wregueit C) HRTgyTeh ded D) HAYH Thdsd




76.

77.

78.

79.

80.

81.

82.

83.

What is article ‘51A’ of the India constitution related to?
A)Fundamental rights B) Presidant C)Directive principles D) Fundamantal Duties.

A) HEH AN B) WEISH AENTER  C)TERaTS SENTTHE D) THehTET ERTES

............... influenced the OBC movement.

A) Mandal commission B) Mahajan commission

C) Gaikwad commission D) Sarkariya commission
WICTdehl T SATATIE Shiorar ?

A) SggieETw B) feheiuram C) Traliet D) hTeHTs
Which one of the following is an active volcanoes ?

A) Vesuvius B) Kilimanjaro C) Stromboli D) Katmai
WTteTieh! ShgaTieid Je9T ShivTdT ?

A) g B) HIvTGR C) T D) faeeht
Which one of these is an union territory?

A)Tripura B)Manipur C)Goa D)Delhi
TN AfheTTe (IR ShIvT SHLAT ?

A) SRR B) ~ATATT™ C) T=T TIHR D) Ufdaret
Who appoints public prosecutor?

A) Individual B) Court C)State Government D) Defendant
WRATE L ST ShIUTaT ?

A) dTT B) ShTqH c) ’omm D) Wwim
Which one of the following is golden fibre of india?

A) Jute B) Cotton C) Linen D) Silk
‘Tl Huedl” g1 uer shioft forfgen 2

A) HETeHT Teft B) ORI C) STETHTE A= D) 3feH &
Who wrote the book ‘wealth of nations’ ?

A) Mahatma Gandhi B) Chanakya C) Dadabhai Naoroji D) Adam smith
“Torera’ B SMTAWTE Toe-a YA Thid 3118 ?

A) TR B) vTTaT™ c) FfAe D) @u=T
Where is the head quarter of the international or ganisation ‘BRICS’ ?

A) Singapore B) Shanghai C) Geneva D) Vienna
‘qfein T2 shivTea oTT=it T g ?

A) Seet B) I\ C) STH-Y D) Wi
Berlin is capital of which country ?

A) ltaly B) Rome C) Germany D) France

10
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84.

85.

86.

87.

88.

89.

90.

91.

92.

62 A1 HERTEE, HIT FAt TALATA HERTSZ HITH hivT ?
A) It ek B) A ek Y@ () @NR ANHS D) femtur W

Who is the Maharashtra kesari of 62™ Maharashtra kesari wrestling competition?
A) Abhijeet katke B) Bala Rafiq Shaikh C) Sagar markand D) Kiran Bhagat

YR FTATTT oo TGS IaR ST Hed

A) SRifeTett B) ST C) L. D) uarel

Modern Biotechnology works on......... level.

A)Colloidal B)Aton C)Molecule D)Substance
fzrd o ot SfEame 25 A TegR e ST ?

A) 3t wee B) BT T T C) WiferTehd ST 9 D) uA.uq. fRva
Who is the 25" governor of Reserve Bank of India ?

A) Urjit patel B) Dr.Raghuram rajan C) Shaktikanta das D) N.S.vishwanathan
Sficiohel UAHeN <hivT S1Tgd ?

p) TR Rt p) Fftue Rrddm ¢) wfder oot D) ifgreht HHRM

Who is the prime minister of sri lanka?

A) Ranil Wickremesinghe B) Maithripala Sirisena

C) Mahindra Rajpakshe D) Chandrika kumartunga

YA ST THIUTT AT EIHAT A ?

A) derTOT B) UM C) SRS D) SwitaTTE
Bhupesh baghel is the chief minister of which state?

A) Telangana B) Rajasthan C) Uttarakhand D) Chhattisgad

Fectan Refaret ALAl helel e HIMT ATuard ?

A) JegmtTam B) Sfeem C) Shla D) heftem

What are the control rods in nuclear reactors made of ?

A)Aluminum B)Indium C)Carbon D)Cadmium
WRATSA Aige fohehe TEme! UfSTeTeh ShIUT 3113 ?

A) T8 Reea B) scg.TEl. WUT  C) HiUet <& D) STYIHH TEhRaTS
Who is the coach of Indian women’s cricket team ?

A) Gary Kirsten B) W.V. Raman C) Kapil Dev D) Anshuman Gaekwad
HETEBYaR AYH JH UTAUTRI 41 ShIUTet ?

A) T B) Al C) Meradt D) STt
Mahabaleshwar is the origin of which river ?

A) Ganga B) Kaveri C) Godavari D) Krishna

2. AT TS T TIEI g8 hid el ?

A) TTOTR B) AT C) HeTE D) &3

( 1
{ )



93.

94.

95.

96.

97.

98.

99.

100.

Where did Dr. Babasaheb Ambedkar burn “manusmriti”?

A) Nashik B) Ratnagiri C) Mahad D) Mumbai

WIATGIUh SHIUTA Tt HETATRUTICTERT ATEl ?

A) Te5TE B) T C) ShITETR D) geTeTuM

Which of the following settlement is not a municipal corporation?

A) Jalgaon B) Latur C) Kolhapur D) Buldhana

AT D AGE .oeeeneerrennnnnn A ?

A) BT G B) ST.3M.E. Wiggeh  C) .INTE HERTS D) S1. AR 3Tag

The author of gulamgiri is..........
A) M.Jyotiba phule  B) Dr.A.H.Salunke  C) Ra.Shahu maharaj D) Dr.Babasaheb Ambedkar

AT ST STeSIE ATH HiShet A (AIIMS) ............ A AR.

A) qot B) fawett C) Herd D) ShIeTeRel
All India Institute of medical sciences (AIIMS) is located in.............

A)Pune B)Delhi C)Mumbai D)Kolkata
TEER o, M7

A) 3Tk g B) HARSH <hg C) T<TehIE <hg D) HTEh(tih g

Mumbaiis @ .ccocevevevevnerinnen.

A)Economic center  B) Cultural center C)Political center D) Entertainment center
WA ITAT AT sohel A1 ........... .

A) SEBI B) RBI C) ¥k ATH G D) TreeA sk 31Tk i
Which is the central bank of India?

A) SEBI B) RBI C) Bank of India D) Central Bank of India
TgRTee T fAfdd. ... o feasht et 2

A) 15 aTfTee, 1961  B) 26 WM&, 1961 C) 19,1960 D) 1®,1962

Maharashtra state was formed on.................. .
A) 15" August, 1961 B) 26" January,1961 C) 1% May, 1960 D) 1** May, 1962

WRATS! ERETUT! hIUT TR ?
A) G T B) JTEUT St C) e fEm D) Fven danm=

Who is the defence minister of India?

A) Sushma swaraj B) Arun Jaitley C) Rajnath singh D) Nirmala sitharaman
AF A ¢ hHIUTeAT hU-Tel TEATIh ATad ?

A) foeTaerte B) 3Tue C) 3R D) St

Jeff Bezos is the founder of ................. company.

A) Flipkart B) Apple C) Amazon D) Wamart
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